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PRACTICE EXAMPLES

Q. l ya#wadl_mmda 40%.0f

Left ‘x.ua‘h' a80 applea. How

maryy apples had he

Sal.,ojulgx/naﬂg? #TTL'LJ&-L
Rassc - Lek totol mo. s wpples @re X Evenythin 8 405/ in ibsely
Solley Salls = XX HO vapples |46 mja)wxﬁauo‘/.avn
Re m amim Wf;’(_ o0 S 18 with vy 6o/,
a "'IEB é,.o'/ =4go
Jo0 X ~HoX = ygo (Griven Lnofuestisg INEER
Loo o/ = 00
Cox = 480 loo), = 8
Jo00
X = 800 e .

Q. 2 A hook seller has total 6300 Looka and he aellas

so% .of all.

t-wwmw/ngbaakawxzﬂumaold?

sod:

{66y, = 63b0
1°/1 = 63 .
He 18 nots Left woikh om (100Y, - Qo) = io/
Ao ioy = (30
Q.3 ymﬁwmwp;amwoyumm@ 8/3% he
geta 72 auupee ATONR. Hia mmomthly calary Lo?
EOI:‘ \ P H Twlc:
agict et ‘ X /. Lncaeaze s eafual e
A a "a’ﬁw’ WWMMXXOOHE&O Ancrrage In nuumbey
=xxses %) B/ =32
300 3"
Diffevente = (X x 308 - K) -39 1Y, = 2%
500 fo0"/ = 97300
—
360
- U = 2#00{
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a. 4 The populatiom of touwm 4m 2019 Lo 2100. vn the meoct gear L
imcreaoes by 21% what is the imcreased populatiom of

nillage im 20207 # Tviek”
saol: _
. ~NTmibal Twesonsed Yolue
Trcnased Value = LmMVaQuex@o +I~ww»%) {00 194
d00
= 2loox 2} lxl‘ X2
joo
v
= 2541 9100 9544
c;.sx/r/m/mwne/wtozzpzl,tfm ‘om Ao imcreased by 20%

demo/nu'fnathm,demma_zdﬁy sx,Wmawzo/ﬂlemuu
{/mcﬂomﬁmamw % WMMW,OMWMC&O/H?
sol: Lot the mo 1 X

A6 o x(loot20 d
) _,.-«——-) - AARL20

__f Tool
x [ 4606-5 x4as
Jd (—’ﬁg> Jd % =595 :9,2
5 XXl2zo =2 :>3{ g xs20 U8
“‘deS 2. 4

Q. 6 whem a mumbenr ia imcreabded by 24, it hecommes 104% Of
M,WMWW?

Bsal‘: ii'-r’o’btk:.
VS et Muumbexr 18 X ; . w
Hhen E\W\»a ne. 18 i'bo/“ in "UCM’L[T
W+2oy = $od XK Ao Amcrase s W/,
300 b/ =24
2= Lo =¥ g/ = ¢
100 / -
24 = W jo5/, = 6°°
{00
X = éOO
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Q.7 546 what percent al 257
sod: i
= 5 xioe = 20/

Q.loywmp{ihz{nactiommmby 35y and
demomimator ia also imcreased by 20% the value of the
mwpacaomb,e,camza%. whatmﬂl.e,oxu'gifrwl{/z,ac&bm?

sol: 4/3

Q. 1l when a smuumber is imcreased by 39, i becommes 113% of

Atoelf. what Lo the ruvmbenr?
sol: 300

G 12 when 40 ia subtracted from 40% of a muvmber, the Lo 8o.
The muwimbenr io?
sod: 300

INCREASE/DECREASE TO DECREASED/ INCREASED NO:

Q. 13 if AL imcomme L& 2s5% Less tham B, how mmuuch percend Bl
income mmosre than that of A?

soli } ot By Imesme X # Touck
Ao A's Lnweeme = ?_L_%ﬁ,? A's Income B'.s Income
(o] m
86 boreert imehtate in B income . L
= - AXHd5 \/—/
—Tos X 400 = 25 x 100
WX TS5 75
_ 100 L/ R,
=22 xieo =333 = s
ESEs
160
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sal:
Price Quants /Camw n
1) =257
160 \/. :_j_—__CT\) q C)
' 1h%t!}iﬂmm%vdwmmh\me,wiﬂamtbwm
‘ e shett driel
g““‘ﬁi;,;m A)—3 bk ~« Numeyater (\\,)
’Dt::;rm‘mv ( ad 7 ‘Numerater + Densyrimdlev
Numevaler (§)y—— then —% Numevater S

ny’ "Y]O.M DQﬂGYEW‘NUN%m
1/%5_22\;}15.#1& ,a/z.e,da/ng.lz,éaj/rwaaed eox% themn

- mwiﬁomquwmmww
nremmaimb the banmme?

sol:  Length Breadth.
Lo/ =6 A 6 = ¢ L\ =3%5/
Lo lo+e L6

Q. 16 A uurmber ib imcreased by Y« to get hack to the origimal
suwmbenr, it Lo to ke rediced by®

sali vy = Y (1) =Y /()

oo joot

the radius of the cylindenr Lo decreased by 4o% them by
G.sz/w.t,p,mczmtft/z.e holght of that ahould be imcreassd 4o
chunmed surface area remaim the same?

sal: 66 %
. 18 TAe Price of wdime Lo imcreaned by 25%. Y the

ia mot allowed to imcrease for a duwnkard, by what
Wwwmmmmmtptiom?
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RESULTANT CHANGE IN:

Q.19 salary of a persom is firet imcreansed by 10% them iU i
agaim imcreased by 10% them the percentage chamnge im hia
walary io?

= Tyiek !
Lex s 100

Nae #muh vﬁufen An the
Hhen %ir&b Imeagase = |00 X_‘_l_"_ =1lo Antveduchim ?ML M&hﬁd

sod:

100 =n+y Tt fd
Aecomd Onartase= 110X 116 - g To0
|bo = Jo +lo 4+ |oXl0
/Cl\one:(m»\oo X loo = 21, oo
a o6 ) = 217,

Q.20The Price o Lo Amcreased 20% .and Aito
comawrmpliom Lo decreased by 10% then what Lo the met
affect om the eocpendiure?

sod:
= A+ *d T_j_
oo
= "—20\/ "'D\/' 3 9—0‘/ x-—j_(‘)‘/_
oo
= 16/ -2

= 87_ Anirease
Q. 21 The Price of am article La firok decreased by 20%.and then
imereaned by 30%. Y the reaudiling price Lo RE 416, The
origimal P/ucz.o{ﬂwa/cttdew?
+Ad_+ '}Uj
oo
— -90 +30 + —~20X30
T
oo
= Jo-¢C ;H‘/' LNerease

Imm 'FTW X (!oo—kiwowzzz,e

sol:

:FLY\QITM
1006
Tnbial price x(ioq )___ Li¢
o0
T P = L’OO {

8
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Q. 22A/ru.mzb_vzu#m.dem.eaa.zd,&y 60% then 40% wWhAhat io the
met chamnge im the price of the suganre

sal:76 ¥ DECREASE

Q. 23TAR Fyukyax%(xzoi41AIZcLe.uucua.Lvuz&ezuazzi:@szs:%. Laten the mew
price was decreased by Ru Y the lateal price ad RA. I
themn the origimal Price uad?

10000
* 10000-R?2

Q. 24 The price of milk is imcreased by 20% and agaim Ly
30%. BQWWMWMWWW price of
itk b0 as to restore the origimal price?

35
50135;(%

MARKS BASED QUESTIONS
Q. 25 katrina requuiied 33% rmarka to pass an eocarmimaliomn bl
2he gok .omly 21% marks and waa declared fail by 18 marka.
eind oul the total marks of the escarmimnaliomn?

DASLC . B Twacek 3.5«/ Pevcerie! " ‘/
o tetal mark of 2 1" °°/-
L’)Lx 20/ + 18 —l) xba:i,:“/ ) i [ I
e | TR
W x33/) - Xx21/ = \Paw‘ﬂa
/o=
rLx 12y 2 127 =13
% = 18 x Joo = 150 £ =18
12 IEA
j_oo\/, :._\_§_)<\bo —
12
et '50 MQUkS'
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Q. 26 v a leot a student got 25% marke and failed by 3o
marka. mffm,a.aonemrmaﬂzm,aﬂzdwrgo 35% .and
Awumdso/rrw/mnmxvta.t/wmp ks, what the

Mwmwmmmw

— D/.ULZ.MCG/)?‘Z? ( 'LS‘/ 16/ /35/ IOD/'

ro\/ —Co l , H3°___),
1. = 6 Pm“ﬂ”‘”‘""
(oo} = oo = Max Pass marks

Pass Marks = €00 X 257/.+30
= xt +30

¢oo
180 4 30‘/
Pass {:excmtaac = Qf"'x loo = '
Q.27vna/nzocamwnaaom,aw1d¢datemucat,azcu/m 35% 2Marko
Lo pasa Acandidate, who gets 100 marka, fald by s marka.
eind the mmascimmuum anaiks for the eocarminatiom?
sol: 300

Q. 28vn a Leok a slbudent gol 3s5% marks amd failed by 25 marks.
vn the aame teakt amnother student got 4sx smarke amd
Lecwned 20% rmarkds amore than the easential rmimirmuuvm
PaLa smarke. The anasximuwm pass /marks for the teat
uLere?

sol: 500

INCREASED OR DECREASED PRICE:
Q. 290we Lo an imcrease of 20% im the price of apples, a rmamn
cam by s kg apples leas for Ra. e00.Find owut the

differemce belween presemt plice and origimal price?
: H. Tyvdek !
é‘giitf Pyegent —*yu.ca too €
Inum e fer Ldame. ,éc&exnoqziptf& | Ouant: :
Cvta 20/ ='5" 56—-_3_-_ arge 4n

5 &g »a,wlu ¥oh = 126%- LooE = g0 E
Pyegerit vake = 1J‘~g apble vake =120 -24E Parew\ta(ta =30-5=25
Tnibiol price = 20%€ B TImibal f”“‘ = éoo( _920€ |

Digfevence b w eLent T«LCQ Q'ni P egenk Price = éoo? VLR
s W t = 2»: 20 =4 € f
%ﬁrma = 9_H- 20 -h&

10





